Using a CREATE TABLE command, create a new range-partitioned table named CH07EMPLOYEE_RANGE that contains the same columns as the employee table. The partition key is the EMPLOYEE_ID column, and there should be four partitions, allocated in the USERS tablespace. Assume that the values in EMPLOYEE_ID start at one, reach 100,000, and are distributed evenly.
REM  
WEEK 7 ASSIGNMENT

REM
Eric Dahlenburg  COP 2741 01Z

REM
Question#2

CREATE TABLE CH07_EMPLOYEE_RANGE


(EMPLOYEE_ID NUMBER (10),


JOB_TITLE VARCHAR2 (45),


FIRST_NAME VARCHAR2 (40),


LAST_NAME VARCHAR2 (40),


PHONE_NUMBER VARCHAR2 (20))

PARTITION BY RANGE (EMPLOYEE_ID)


(PARTITION NUMBER_1 VALUES LESS THAN (25000)



TABLESPACE USERS,


PARTITION NUMBER_2 VALUES LESS THAN (50000)



TABLESPACE USERS,


PARTITION NUMBER_3 VALUES LESS THAN (75000)



TABLESPACE USERS,


PARTITION NUMBER_4 VALUES LESS THAN (100000)



TABLESPACE USERS);
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